N & 0l & AF S & M M

201789 = S0& LA MSAISW
R s R SE=an);
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME&sH 11,269,281 8,276,763 2,992,518
J| 192,998
< 280,983
Al 10,795,300
HsolzZet A5 (222/H=) 10,618,279 7,795,996 2,822,283
J| 192,998
< 280,983
Al 10, 144,298
HsAE &= 6,880,254 3,820,700 3,059,554
= 55,000
Al 6,825,254
SSHSAE 29 550,800 57,000 493,800
203 YR =& 1,800 2,000 2200
03 Al =AY R =& 1,800 2,000 2200
ON=szsEg:® =24 1,800,000 * 14 1,800
401 Al HI R 201 I 549,000 55,000 494,000
01 A& HI 549,000 55,000 494,000
OAOIE=SZE AXALC HAXZA
35,000,000& * 204 70,000
ONOIEEHE XNSANE EXSAM
100,000,000& * 3JH £ 300,000
OSJNZ=3 s N2
5,000,000& * 1JH 4 5,000
OZJIZR=TY ZFAHIF XY &
20,000,000& * 1JH A 20,000
OF40l 242 OISHSIA T4 (F0H
Ol &) 70,000,000& = 14 70,000
Ogx=AN2FEIE stEA &3
42,000,000& = 14 42,000
OFEANLZTE AL &
42,000,000& = 14 42,000
SUHSAE 23 63,700 63,700 0
201 Let24d] 3,700 3,700 0
02 2324l 3,700 3,700 0
O=RF &3MERES 50,000& = 23| 100
OsRE dIIR3 200,000& * 123 2,400
OQICtIAAOER HIIRS
100,000& * 123 1,200
401 AIEHI L 201 60,000 60,000 0
01 A& HI 60,000 60,000 0
OSUMSEAE 23J17 £X
2,000,000& * 100 2 20,000
OsUHSAE 23717 == 0H
2,000,000 * 1090 A& 20,000




2A4: MEIEDL
H: oD E(2YBZ/AR)
e HSAE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OsSUHMEALE 27 B
200,000& » 100& 20,000
(Z)AZIHEA NG EHE 6,084,000 2,000,000 4,084,000
401 AIEHIZL 201 Y| 6,084,000 2,000,000 4,084,000
01 Al&H| 6,068,790 1,969,400 4,099, 390
ATIME AHSGE 2HE
6,084,000,000€ * 99.75/100 6,068,790
03 Al 201 Y| 15,210 0 15,210
OAZZHME AU2IE AY
6,084,000,000& * 0.25/100 15,210
AZFA ANEHZ2E 2 71,754 0 71,754
101 e1214| 18,634 0 18,634
04 J|12tHIZ22NEES 18,634 0 18,634
OGFA NEANBE B22XNEH HH A 22
51,7603 2 = 180 18,634
201 et 13,500 0 13,500
01 AFR 2t 2| bl 360 0 360
OGFA NEANBE B22XNEH HH A 22 360
—SI&EA HAEE P2 30,0008 * 6IHE 180
—Z22XN8H UHA AIREE 7Y
30,0008 ~ 6IHE 180
02 2224 13,140 0 13, 140
OGFA NJENEH 2E 2222 7,200
— MolEE 2 100,000 = 1200 € 1,200
— &I Rea 500,0008 * 120 6,000
OY9FA NENSE BBXNEH UHA 22 5,940
—Z22Z2XU8AH A 822
100,000& = 6o & 600
—Z22XN&H A PHYUASES
30,000 ~ 6O 180
—Z22XN8H A ROBHAIAE A
90,0008 *~ 6O 540
—22XN&H =2l 20,000& = 12004 2,400
2Z2XNFH BE(6IHE) 18,5008 = 12004 2,220
307 2izto| A 21,620 0 21,620
05 QIZtR E 2 21,620 0 21,620
OZ2Z2XNEHLAUHAIAEY 2H 21,620
—&I|ea 30,000 = 3oHA « 1200 1,080
—QOlEHYAIE 2 30,000 = 334 « 1200 1,080
—ANAE KRB A 10,000,0003 * 14 10,000
— EMHO0IX 2% 500,000 = 9 & 4,500
—Z2Z2XN8H EE(22XHEHHAL HEA
ZsH) 31,000& * 160CH 4,960
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SN HSXED
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 10,000 0 10,000
01 A& HI 10,000 0 10,000
ONBNSEH ANEE RANES
10,000,000& * 14 10,000
405 XHoHF S HI 8,000 0 8,000
01 HatH ESFH S 8,000 0 8,000
O33X&EAN 7¢ 400,000 = 20CH 8,000
(DINZHEANLEES 110,000 0 110,000
< 55,000
Al 55,000
401 Al HIZ 201 Y] 110,000 0 110,000
< 55,000
Al 55,000
01 A& HI 110,000 0 110,000
OHetdH =2lel HoE=2E 2=
40,000,000& * 14l 40,000
< 20,000
Al 20,000
O=g8Y SUitel AHoE=E Hl
40,000,000& * 14l 40,000
< 20,000
Al 20,000
OfAH g=22 AHOE=E ]
30,000,000& * 14l 30,000
< 15,000
Al 15,000
Hssd =4 3,738,025 3,975,296 A 237,271
J| 192,998
< 225,983
Al 3,319,044
AgE =4 70,500 40,000 30,500
307 glz2tol & 40,500 40,000 500
02 IZtE M AHE X 30,000 30,000 0
OMYYRLH4 AJNRE B (2H.24.5
a)(e2xs FY) 30,000,000& * 14 30,000
03 BIAHNHE2IHIEL 10,500 10,000 500
Ost=AY=NY 29 NA(ZXS FH)
10,500,000& * 14 10,500
402 BI2FX=20| M 30,000 0 30,000
01 2I2E 2 A B (KM &) 30,000 0 30,000
oMY XY 7Y NA(EXE BA)
30,000,000& * 1CH 30,000
UM=K 39,660 38,660 1,000
301 g2 d= 3,660 3,660 0




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
09 HAIAHI EAZ 3,660 3,660 0
O&d=&HMAM=US =ILX O]
90,000& * 14%Y 1,260
OXels=8dstia &8 ¥ ol
800,000& * 3&58= 2,400
307 2Iz2to| & 31,000 30,000 1,000
02 QI AAIE E X 11,000 10,000 1,000
OO HHECIENA 29
11,000,000& = 14 11,000
04 SIZ2ISHAAISH E & 20,000 20,000 0
OM198 ZE-XHMOMESUHE SHBH(EX
s HH) 20,000,000& = 13| 20,000
402 BI2H X 20| M 5,000 5,000 0
01 SIZEXIEANS EX (MMM A) 5,000 5,000 0
OXOHEH AU (HIEe EH0) 2 XN
5,000,000& = 1CH 5,000
A= AQH SO Z X & 336,000 310,000 26,000
307 212t0| & 336,000 310,000 26,000
04 SIZ2ISHAAISHE E X 336,000 310,000 26,000
OHM38a E=ACIHMEWE HEBH(BExEg &
oK) 100,000,000& * 13| 100,000
OHM38e EF=ACHEUHE S8 XN (EXES
& oH) 11,000,000& = 19iSHS= 209,000
OM38s EF=ACHEUE =Snsstw (L
g HW) 1,000,000& * 2070 1 20,000
OHMI38al F=A2HEUS &I S =C NS
500,000& = 14& 7,000
AN SUHIEHIIIKH 280,000 280,000 0
307 QI2t0| ™ 280,000 280,000 0
02 QI2tAAMAIE E =X 260,000 0 260,000
OHMbBhe 2ETCMEWs 2oHFH(Exg &
oK) 260,000,000 = 14! 260,000
04 CIZ2tSHALALS B X 20,000 280,000 A 260,000
OHMbB53 d=E2 MU LEA A
20,000,000 = 14l 20,000
(DHINZHIM2SHIESSLEANH 1,170,000 1,170,000 0
& 170,000
Al 1,000,000
307 QI2t0| ™ 1,170,000 1,170,000 0
& 170,000
Al 1,000,000
02 AI2tAMAIE E =X 1,170,000 1,170,000 0
OMUE (S, 24 ,24) 54 X8
1,170,000,000& = 14! 1,170,000
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R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (&)
. - . 4 =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 170,000
Al 1,000,000
(Z)HEMMEMSXSK WX (2SKHA) 102,432 97,632 4,800
J| 51,216
Al 51,216
307 glz2tol & 102,432 97,632 4,800
J| 51,216
Al 51,216
02 (It HAMHEE 102,432 97,632 4,800
OANZ0oz2d HEHIFX A B Xl
25,608,000& = 49H 102,432
J| 51,216
Al 51,216
()L MEHSX A WX (B2SXH) 153,648 146,448 7,200
J| 76,824
Al 76,824
307 21201 A 153,648 146,448 7,200
J| 76,824
Al 76,824
02 IZtEHAHE L 153,648 146,448 7,200
OANZHEMF XX Hi X
25,608,000& = 69H 153,648
J| 76,824
Al 76,824
(DIMENSDAES2IXE 28,836 28,836 0
< 8,640
Al 20,196
307 21201 A 28,836 28,836 0
< 8,640
Al 20,196
04 DIZHHALALSE E X 28,836 28,836 0
OMEHsIA (52, HUA 5) 29
28,836,000& * 14 28,836
< 8,640
Al 20,196
()2rExZ=AH0I2d X 92,800 65,170 27,630
J| 64,958
< 8,353
Al 19,489
307 21201 A 92,800 65,170 27,630
J| 64,958
= 8,353
Al 19,489
05 BIZHRI & 3 92,800 0 92,800
OAZ=2H0IEAH X 92,800,000& * 14 92,800
J| 64,958
< 8,353




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
| Al 19,489
(S)YF=AADIZIE S X X 230,000 240,000 A 10,000
& 30,000
Al 200,000
307 2Iz2to| & 230,000 240,000 A 10,000
= 30,000
Al 200,000
04 SIZ2HSHAAIH E & 230,000 240,000 A 10,000
OgF=AAOI2tEW S 230,000,000& = 14! 230,000
=} 30,000
Al 200,000
ANEIIESSEMNEUHE X 51,000 27,000 24,000
307 giztol & 51,000 27,000 24,000
04 QIZ2tSHALALS B X 51,000 27,000 24,000
OANAEI &Y M=U3 Mzl XA
3,000,000& * 1755 51,000
stNHEsEXd 240,600 155,000 85,600
307 2iz2to| & 240,600 155,000 85,600
02 QIZ2IAAAIE E X 223,600 140,000 83,600
Ostnd=sse 4 50,000,000& * 14l 50,000
OME8sIIsE 84 & FHASsS 4 90,000
—EJ=E= 2,500,0008 ~ 10&= 25,000
—FAEE= 2,500,0008 * 10&= 25,000
~HEHNSE2 S4(SY S)
40,000,000 * 14! 40,000
OYFALIXIMH 4 50,000,000& * 14 50,000
Ostness MAIX &sHl AE
200,000& * 14¥ = 12&€ 33,600
04 CIZ2tSHALALS B = 17,000 15,000 2,000
OZz=24¢ 2= H=sUa &IEH(EX8 3N)
1,000,000& * 103 10,000
OHNlb4s HEzsdsUa &It N (BXE
oK) 7,000,000& = 13l 7,000
MEHAN A= 3,600 5,760 N 2,160
307 2iz2to| A 3,600 0 3,600
04 QIZ2tSHALAFS B 3,600 0 3,600
OMEHEAN X A EIF X
900,000 * 43| 3,600
S2EUIEIIEH XA 60,000 25,000 35,000
307 2Iz2to| & 60,000 0 60,000
04 SIZ2SHAAISH E & 60,000 0 60,000
Oz=24 H=UWUs &IoF &Y N
500,000& * 40&5S * 33 60,000
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2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
NESHLUE XA 15,000 15,000 0
307 2Iz2t0| A 15,000 15,000 0
04 SIZ2ISHAAISH E & 15,000 15,000 0
OAl MEE d2WUia M=l XI&
5,000,000& = 13 5,000
O MNEE &eUia &I XI&
8,000,000& = 13 8,000
O&=2 MNEg d<ia &I N
2,000,000& = 13 2,000
N2 AMSUHE MA X 42,000 89,000 A 47,000
201 et d| 2,000 1,000 1,000
01 At 2t2l ] 2,000 1,000 1,000
OIS KX 4% M=
50,000 x 2& x 53] 500
O&=2U3 |xX 222 H& 500,000& * 33 1,500
307 2iz2to| & 40,000 88,000 A 48,000
04 SIZ2SHAAISH E & 40,000 80,000 A 40,000
OF= & =42 Hsis |
20,000,000 * 23| 40,000
MNHESAZEHEILAMESNSUHS XA 15,000 30,000 A 15,000
307 212t0| & 15,000 30,000 A 15,000
04 SIZ2HSHAAISHE E & 15,000 30,000 A 15,000
OXNMEAN=E AMEHSHS &I &Yl X
& 15,000,000& = 13 15,000
MEHUIESHE XS 115,000 115,000 0
307 QI2t0| ™ 115,000 115,000 0
04 CIZ2tSHALALS B X 115,000 115,000 0
02017 ZoMEs -2 (K¥AE) =20
3 i = 25,000,000& * 13| 25,000
Q2017 Z2EHZAMMENESHE 2IH(EXEg A
oK) 20,000,000& * 13| 20,000
OHM273 2z UMEHSHE BIH(EXE F
oK) 70,000,000& * 13l 70,000
ABITAZLZD|HE X & 26,000 26,000 0
307 QI2t0| ™ 26,000 26,000 0
04 CIZ2tSHALALSE B = 26,000 26,000 0
OAIBl 24 2103 M=l
13,000,000 = 23| 26,000
A= dsFUHI XN 12,000 12,000 0
307 2iz2to| A 12,000 12,000 0
04 CIZ2tSHALALS B X 12,000 12,000 0




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
(o
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OZ=2l XN s3] HAE
10,000,000& = 13 10,000
OZ=s2ld Sg &IF HHl IF(BEXxs HAH
) 1,000,000& = 2& 2,000
AFZED|QAIMSUHE A 90,000 85,000 5,000
307 2Iz2t0| & 90,000 85,000 5,000
04 SIZ2ISHAAISH E X 90,000 85,000 5,000
OHN103 G==ZE)|04aH MEHNS S5 =xH
=E=20U3 24,000,000& * 13| 24,000
OHM103 GFZEJ|4t H2ES=32AH0IE=SU
3| 20,000,000& * 13| 20,000
OHMb53 = ZEJIQAMEAI M=2SS2NEUS
19,000,000& = 13 19,000
OHM403 Y=ZEZ)|0aH 2350 L Ol=Hl
LIACHS 27,000,000 * 14! 27,000
MEHYAUEHHS XA 50,000 55,000 A5,000
307 QI2t0| ™ 50,000 55,000 A5,000
04 SIZ2ISHAMAISHE E X 50,000 55,000 A5,000
02017 A EAHEIITHE JH=E
10,000,000 = 13| 10,000
OHMb53 BHEH2F OJtEE JHE
40,000,000& * 13l 40,000
ZOHFREZ2COIAZE E=ZAI0I2UHE 40,000 0 40,000
307 QI2t0| ™ 40,000 0 40,000
04 CIZ2tSHALALS B = 40,000 0 40,000
OHM193 20 MSIEZY OlAFEHY &= AHOI
U3 H= 40,000,000& * 13l 40,000
H=2E2A 3 X2 30,000 100,000 70,000
307 2iztol & 30,000 100,000 70,000
04 CIZ2tSHALALS B X 30,000 100,000 70,000
02018 24 2IIHE A& Ji =
30,000,000& * 13| 30,000
(EVANZMEHESXNEXNDEH XA 12,000 12,000 0
& 3,600
Al 8,400
307 2Iz2to| & 12,000 12,000 0
== 3,600
Al 8,400
02 QIZFA AAIE E X 12,000 12,000 0
OMESHY2AEA DEH X
100,000& = 10¥ * 123 12,000
& 3,600
Al 8,400
N=2SAEESIAUS A 165,000 170,000 A5,000




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 165,000 170,000 A5,000
04 DI2HHALALSE E X 165,000 170,000 A5,000
O 2017 =2 A2E=2UE
165,000,000& * 13l 165,000
AMMEESEHE 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
02017 AWAMHBSEIUS XA (XS 90%)
20,000,000& = 13l 20,000
EZICEICIOHMHEXIH 50,000 0 50,000
307 21201 A 50,000 0 50,000
04 QIZFHALAIH B = 50,000 0 50,000
OE=Z & Zel0t 2017 i =l
50,000,000 = 13l 50,000
StINS AT AN E XA 40,000 0 40,000
307 21201 A 40,000 0 40,000
04 QIZFHALAIH B = 40,000 0 40,000
OM7sl =S AZ=A il
40,000,000 = 13l 40,000
(SINZ M3 2L X2 156,949 0 156,949
< 5,390
Al 151,559
307 glz2tol & 156,949 0 156,949
< 5,390
Al 151,559
03 QIAHNHE2IHIEE 156,949 0 156,949
OZFANN=2 2 156,949,000& * 14 156,949
< 5,390
Al 151,559
ANolgsdael (23 2Z /M) 550,252 380,017 170,235
SO MSHE 22l 66,897 66,796 101
IeXSsHEH AlE 22 60,897 60,796 101
101 124l 9,317 8,684 633
04 JI12ZtHZ22HEE = 9,317 8,684 633
O=32HsdHd 33|
51,7603 = 3¥ » 60 9,317
201 LBt2E | 51,580 52,112 A 532
02 =224l 51,580 52,112 A 532
O824 Y24l Xz
3,000,000& « 1CH 3,000
Of=2&0| 2 |X2el
200,000& * 504 1,000
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M HSXED
HM: AoI2sHAu(2SL2Z/HE)
chel: 2OHMSME 22 (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O&EIIANE A 2,000,000 = 14 2,000
OJIAH, &H] g2 H 2,000,000& = 14! 2,000
ONZE SSHH 23 0HM 500,0008 * 55 2,500
OH=EZE HIIZAMN =2 1,000,000& * 23| 2,000
OMde==xX A 1,000,000& * 1JHA * 23] 2,000
Oodue) d2d(3%R)
1,200& *~ 704 = 8AlI2F = 40 26,880
OB A =2 100,000& = 13 100
OMax=ZX =Z2IA =22 100,000& = 13| 100
OdH 2 FIIEE ¥ B
2,000,000 = 2CH 4,000
O &5 24 1,000,000& * 23] 2,000
OCCTV & s X &2 1,000,000& * 200 A 2,000
OABAEAH KX 2,000,000 = 14 2,000
HEH 2 Alg2tel 6,000 6,000 0
201 Bt A H| 6,000 6,000 0
02 332 H| 6,000 6,000 0]
OHIIANE RXNE> 2,000,000& = 14 2,000
OJIAH, EHlHi& X122l 500,000& * 244 1,000
OAHA=EZ2 A&l 3,000,000& = 14 3,000
M= A& 22 483,355 313,221 170, 134
ABI 2SS & 22| 265,076 264,998 78
201 2yt 2 Y| 261,406 261,478 AT2
01 At 22l ] 5,280 3,812 1,468
Ost&Ea g3 el 10,000& * 128 * 8 A 960
OMYIIEHHEE #¢
1,400& = 1000 » 230 3,220
OINAAHAA =22 100,000& * 13 100
OXCIZD, 220 & SA2el
200,000& = 5& 1,000
02 33294l 256,126 257,666 A 1,540
OdelHole SA2el CHeH
220,000& * 2CH ~ 12€& 5,280
O4gAd SSTHLEZ 1,000,000& * 544 5,000
OAgAd BS)IsEZ 1,000,000& * 5044 5,000
OAgYANd BZRA 2l O
125,000 = 504 = 12&€ 7,500
OAaY A EH S22 1,000,000& * 14 1,000
OFZJN& dZ2E 28 WAH 500,008 * 55 2,500
O&II&H 20 100,000& * 20 2,000
O483 & S X2el 1,000,000& = 14 1,000
Odst o=l 2,000& = 2,000kg * 2« 8,000




R s R SE=an);
. ANo2sEac(2se2E/As)
S MSAL2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ods+=4 22 ASH (AUSR)
7503 * 2,7004 =+ 43 8,100
O=- -8HEY DSXEI S 2el
1,000,000 * 14 1,000
OZZ+ AHAT L HB22
4,500,000& = 13l 4,500
OSSH =¥ S ZHI =g
2,000,000& = 33l 6,000
Ot 4 S22 2te| 200,000& * 44l 800
Odseas ¥ REURS 150,000& * 12& 1,800
OdII3(gerng) 12,200,000 * 12& 146,400
OIS (MotEH) 900,000& = 123 10,800
OIS (IZES) 45,000& « 12& 540
OXILB(LEH) 60,000& = 12& 720
OdEII&Hl EIIEA 1,500,000 * 13l 1,500
OHdt=ER3 1,700,000& = 12& 20,400
OAetdE 3l 50,000& = 13l 50
O&gIs A3l 100,000& * 13| 100
Ofg2ael Xt A3l 36,000& * 13l 36
otz =Rg3 8,000,000& = 23| 16,000
Odstth 282 100,000 * 13| 100
206 M= Hl 3,670 3,520 150
01 =8l 3,670 3,520 150
O=F&dJ& &fl2el&8 Hz7e
10,000& * 100 1,000
OFgJ& afl2el8 s47¢
12,000& * 38 = 2004 720
OAdze &3 72 10,000& = 30& = 33l 900
oxt2AIIE ZU+E 7008 » 250& * 63 1,050
MEHSAE 2L 218,279 48,223 170,056
101 @14l 17,599 12,543 5,056
4 JI2ZtHZ22HEE = 17,599 12,543 5,056
OdENs2 23FHl 51,7603 » 2% » 502 5,176
O=ZIFFH 2BFFY)
51,7603 * 2H » 90 9,317
OMEs3d ¢ Jtz2sc Jul
51,7603 * 2H » 30 3,106
201 £B-2dH| 9,680 10,680 A 1,000
01 At 22l 2,000 3,200 A 1,200
OBI2A9S BN BE44E
500,000& * 43 2,000
02 =224l 7,680 7,480 200
OMaxsa MILE RANE>
1,500,000 * 23| 3,000

_11_




M MsSAEL
BE: ANSSTR(SHLBB/HS)
S F A& 22 (e &)
K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
OME s JIAH, SHla SN2+
1,000,000& * 14 1,000
OoMgsa A5 24 600,000& * 23] 1,200
O&dSE EA 12,000 * 40m 480
OANRI2SE HAE5=S |22
2,000,000 * 14 2,000
307 212t01 & 100,000 0 100,000
05 A2t &= 100,000 0 100,000
OSHMHA+-ZE 2 100,000,000& * 144 100,000
401 Al HI L 2 0HHI 41,000 25,000 16,000
01 A& HI 41,000 25,000 16,000
OF8JIE HE 5,000,000& * 14 5,000
OFEINE &LEas L 24
5,000,000& * 14 5,000
OEXEEFE RANES 5,000,000& * 14 5,000
OBJMsSaH AL B4
5,000,000& * 14 5,000
OZHIAY STMES 21,000,000& * 14 21,000
405 XtabF SHI 50,000 0 50,000
01 AL S F SHI 50,000 0 50,000
OBt E 28 =3 222 MY
2d 8,000,000& * 14 8,000
O2dY+EE 29 &2 0E 7
7,000,000& * 64! 42,000
#H2AAY (ST ED)(OIEH/IIE) 100,750 100,750 0
Jl=2&tl 100,750 100,750 0
Jl23Hl 100,750 100,750 0
201 Bt A | 34,450 34,450 0
01 AFR2 2t 2l Yl 34,450 34,450 0
OSAIEX ¢ 15,000& * 152tA x 12& 2,700
OSZ20Aadl 6,000& * 64! x 15H * 12& 6,480
Ogte2 100,000& * 12& 1,200
oA EM7EHI 50,000& = 12& 600
OARR 2EHI(HMESIEDL, ANLU2sSZE) 8,050
— S A =2l 500,000& = 2CH 1,000
— T2lE %2 100,000€ * 3CH = 50/100 150
— S A EY 200,000& = 53] = 204 2,000
— D2 EU(E8) 200,0008 » 53 * 304 3,000
— Z2E EU(Ze2H) 200,000& * 53 * 104 1,000
—PC =2l 100,000 * 150H = 20/100 300
—JIEt =2ly| 50,000& = 12& 600
OJIEF AFR 22| 5,000& * 159 « 12& 900
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R s R SE=an);
HA: HH2ISLH(MKYED)(IIEH/IIE)
el JI=23Hl

= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
Og=aY| 14,520
— o2& 60,0003 = 1¥ = 119 7,140
- =35 30,0003 * 198 » 246 7,380
202 oddl 62,100 62,100
01 = LH o4 1l 62,100 62,100
O Kbl 20,0003 * 159 * 12 « 128 43,200
O 22 ¢ bl 90,000& = 159 » 14« 18,900
203 R =&l 3,000 3,000
04 EAN2IHRFEHI 3,000 3,000
ORN2ILR A 250,000& = 12& 3,000
204 HR=HAH| 1,200 1,200
01 Mg 1,200 1,200
ORMIU2L A (NSTEUE)
100,000& » 198 = 128 1,200




